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Crossword

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

 Bidding Quiz
1. Two spades. An overcall on the one-level is 

more often than not based on a hand that would not 
qualify as an opening bid. However, since a simple 
overcall can contain up to 16 or 17 points, game is 
not an impossibility opposite the hand you hold here, 
and this can best be explored by raising spades.It 
would be wrong to bid two clubs, as this would deny 
support for spades and would normally be read by 
partner as a corrective action. Partner might very 
well pass two clubs, which is unlikely to be in your 
side’s best interests.

2. Three spades. This is a stronger game try than 
two spades. However, the jump-raise is not forcing 
and allows partner to pass if his overcall is of the 
minimum variety.

 3. Two spades. It is very unusual to raise partner 
with only two trumps, but here there is no better bid 
available. To pass with 11 points and a partial trump 
fit would show a thorough lack of respect for part-
ner’s overcall, and to bid two clubs or two hearts on 
a four-card suit is unthinkable. North is entitled to 
some form of encouragement, and two spades comes 
closest to filling the bill.

 4. Four spades. The odds strongly favor making 
four spades, and that’s a good-enough reason for 
bidding it straightaway. Opposite a typical one-
spade overcall, this hand is highly unlikely to lose 
four tricks.

 5. Three notrump. It would be wrong to bid only 
two notrump, which would permit partner to pass. It 
is bad policy to merely invite a game that you already 
know is an odds-on favorite.

 One way of estimating your chances for game is to 
credit partner with roughly 10 points for his overcall, 
which would give your side the 26 points normally 
needed for game.

Tod the Dinosaur • Patrick Roberts

Baby Blues • Rick Kirkman & Jerry Scott

Mother Goose and Grimm • Mike Peters

	
	

 The Happenstance Squeeze
  Most squeezes must be carefully planned by de-

clarer, but sometimes he just falls into them in the natural 
course of events. Here is one of the latter sort. South 
reached six diamonds, lost the opening heart trick and 
trumped West’s heart continuation.

  The slam would have been a cinch to make if the 
adverse diamonds had divided 2-1. In that case, South 
would have drawn trumps in two rounds, discarded a 
spade loser on a top club and eventually trumped his 
two remaining spade losers in dummy. But when East 
showed up with all three diamonds, declarer realized he 
could not successfully ruff two spade losers in dummy, 
since East would overruff. So South instead drew all 
three of East’s diamonds and then led a spade to the ace, 
creating this position:

North
[H]	 9 7 
[D]	 9 
[C]	 A K 8 2
West	
[S]	 Q 10 8	
[C]	 Q 10 6 5	
East
[H]	 Q J 10 3
[C]	 J 7 3
South
[S]	 K J 7 5
[D]	 5 4
[C]	 9
 When declarer next led dummy’s seven of hearts and 

ruffed it, West was placed in a most unhappy position. 
If he discarded a spade, South would make the rest of 
the tricks by ruffing a spade in dummy, after   And if 
West chose to discard a club instead, South would make 
the rest of the tricks by cashing the A-K of clubs and 
ruffing a club, establishing dummy’s last club as his 
12th trick.As we said at the start, some squeezes you 
just fall into.
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